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EF Prepare current state

me contents top-left = NOUGHT A

¥ current state top-left ¥ §8% PLAYER MOVE
=R
e contents top-left = CROSS BRI
BB current state top-left v+ §8% OPPONENT MOVE

&R

¥ current state top-left v 8% EMPTY MOVE

g contents top-middle = NOUGHT A=

#¥ current state top-middle ¥ {84 PLAYER MOVE
=8
Mg contents top-middle = CROSS AR
¥ current state top-middle * {84 OPPONENT MOVE

&R

¥ current state top-middle * 8% EMPTY MOVE
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] $i Eﬁ gﬁ %--l_ E/\J E El- lﬁ\ ’%ﬁ EWHFAS  new-move v
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e turn = CROSS 1373

l%: 'E 1 ﬁ FU . I7:E D O h 7  OPPONENT MOVE %) history cross top-left «
e SR , I
m\ﬁ === -l:]J 2 ig_gz > MEY ’l% 8%  tun = NOUGHT BB

/}%E

o

7N  PLAYER MOVE % history nought top-left »

EEGHRNE MR R G e = CROSS BE

mR result = PLAYING = ER FUES turn = CROSS AR

7N PLAYERMOVE % history cross top-left »
me turn = CROSS AR

#8 contents top-left + 3&% CROSS MR turn = NOUGHT BRE

i+ top_left %] history cross choice ¥ .
il i = i 7N  OPPONENT MOVE %l history nought top-left »

BEHEAS  new-move ¥
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EWEIMS  new-move-complete ¥

PSS contents middle-left = CROSS =] contents middle-middle = CROSS =1 contg

EH result v 3®%A PLAYER (CROSS) WIN

BEHES  game-over ¥

g contents middle-left = NOUGHT =1 contents middle-middle = NOUGHT =] c

EH result v F®A COMPUTER (NOUGHT) WIN

&S game-over v
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- SEEHLE LW TOEE - FAABEANE

PLAYER
EMPTY
EMPTY
EMPTY
OPPONENT
EMPTY
EMPTY
EMPTY
EMPTY

OPPONENT
EMPTY



EEGDE | HTEH (3

- ENE

iiji|

E# use machine learning model

Fy .
28 computer-move v 5 g recodnise numbers TopLeft [ current state top-left ' Top b bottom-middle  BottomRight  current state bottom-right  (label)

£ add cross moves to training data

add training data TopLeft history cross top-left * #J% = move number I8 TopMiddle 9% move number IE is history cross choice * H#J% move number I8

E# add nought moves to training data

add training data TopLeft history nought top-left » %  move number 18 TopMiddiqEittom-right v (958 = movenumber JH is  history nought choice v [J5 = moven
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game-over ¥

mR result = PLAYER (CROSS)WIN

258 move number v 25 °

58 BB HRE

history cross choice »

add cross moves to training data

28 move number v PNE o

MR result =

%  move number v
85 BE

history nought choice *

add nought moves to training data

COMPUTER (NOUGHT) WIN
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TopLeft=EMPTY <= 0.5
samples = 146
value =[18, 9, 17, 6, 16, 10, 36, 12, 22]
class = top_left

True False

samples = 108
value =[18, 9, 17, 6, 14, 10, 0, 12, 22]

MiddleMiddle=EMPTY <= 0.5
class = top_right

TopRight=EMPTY <= 0.5
samples = 92
value =[18,9, 17,6, 0, 9, 0, 11, 22]

class = top_right ]

A
TopMiddle=EMPTY <= 0.5
samples = 55
value =[7, 3,13, 4,0, 1, 0, 5, 22]
class = top_right

samples = 10
value =[0,0,0,0,8,1,0, 1, 0]
class = middle_middle

BottomRight=EMPTY <= 0.5
samples = 40
value =[7,0,12,4,0, 1,0, 5, 11]
class = bottom_right

r \

BottomLeft=EMPTY <= 0.5
samples = 14
value=[4,0,0,3,0,1,0,0, 6]
class = top_right

BottomLeft=EMPTY <= 0.5
samples =5

value =[0, 3,0,0,0,0,0,0, 2]

class = bottom_middle

é samples = 3

value =[0, 3,0, 0,0, 0, 0, 0, 0] alue =10 0.
class = bottom_middle T

A\

(" MiddleMiddle=OPPONENT <= 0.5
samples = 4
value=[0,0,0,2,0,1,0,0, 1]

class = middle_left ),
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